Date:	March 6, 2015 Annual Contract for Fire Sprinkler Inspections and]
For:	Maintenance for Alamodome		Local
			Mulder Fire Protection, Inc. 5807 La Colonia
6100005758		LB Estimated Annual	San Antonio, TX 78218
Item	Description	Estimated Annual Quantity	210-661-4257
4.0	Year One	4	
1A.	Annual Fire Sprinkler Inspections Price per each	1	\$3,500.00
	Total Price		\$3,500.00
1B.	Annual Fire Pump Flow Test		
	Internal Fire Pump Flow Test	1	
	Price per each Total Price		\$2,000.00 \$2,000.00
			φ2,000.00
1B.II.	External Fire Pump Flow Test	1	* 2 222 22
	Price per each Total Price		\$2,000.00 \$2,000.00
			+_,
1C.	Annual Fire Line Backflow Preventer Inspection Model FEBCO 805YDC, Serial #B14180, Size: 10",		
	Location: NW Fire Room – Field Quad D	1	
	Price per each		\$175.00
	Total Price		\$175.00
	Model FEBCO 805YDC, Serial #B14179, Size: 10",		
	Location: NE Fire Room – Field Quad A Price per each	1	\$175.00
	Total Price		\$175.00
	Model WILKINS 305A, Serial #U14151, Size: 6",		
1C.III.	Location: Warehouse – Lot A	1	
	Price per each		\$125.00
	Total Price		\$125.00
1C.IV.	Model WATTS 709 DC, Serial #126506, Size: 3",		
	Location: Boiler Room – Lot A Price per each	1	\$100.00
	Total Price		\$100.00
	Model WATTS 10, Serial #07567, Size: 1 1/2", Location:		
1C.V.	Generator Building – Lot A	1	
	Price per each Total Price		\$100.00 \$100.00
			\$100.00
2A.	Other Than Annual Inspections	3	
27.0	Price per quarter	U U	\$3,500.00
	Annual Total Price		\$10,500.00
3A.	Weekly Inspections	52	
	Price per each Total Price		\$175.00 \$9,100.00
	Total Filce		\$9,100.00
4A.	5-Year Internal Valve Inspection	1	# = 000 00
	Price per each Total Price		\$5,200.00 \$5,200.00
_			
5. 5A.	Labor and Parts Hourly Labor Rate I - Regular Working Hours		
	Journeyman	80	
	Price per hour Total Price		\$85.00 \$6,800.00
			\$0,000.00
5A.II.	Apprentice Price per hour	80	\$60.00
	Total Price		\$0.00
54 111	Helper	80	
əa.iii.	Price per hour	00	\$40.00
	Total Price		\$3,200.00

Date:	March 6, 2015 Annual Contract for Fire Sprinkler Inspections and]
For:	Maintenance for Alamodome		Local Mulder Fire Protection, Inc. 5807 La Colonia
6100005758	Γ	LB	San Antonio,
Item	Description	Estimated Annual Quantity	TX 78218 210-661-4257
5B. 5B.I.	Hourly Labor Rate II - After Hours/Overtime Journeyman Price per hour Total Price	20	\$100.00 \$2,000.00
5B.II.	Apprentice Price per hour Total Price	20	\$80.00 \$1,600.00
5B.III.	Helper Price per hour Total Price	20	\$60.00 \$1,200.00
5C.	Parts up-charge Year 1 Subtotal		15.00% \$52,575.00
1A.	Year Two Annual Fire Sprinkler Inspections Price per each Total Price	1	\$3,500.00 \$3,500.00
1B. 1B.I.	Annual Fire Pump Flow Test Internal Fire Pump Flow Test Price per each Total Price	1	\$2,000.00 \$2,000.00
1B.II.	External Fire Pump Flow Test Price per each Total Price	1	\$2,000.00 \$2,000.00
1C. 1C.I.	Annual Fire Line Backflow Preventer Inspection Model FEBCO 805YDC, Serial #B14180, Size: 10", Location: NW Fire Room – Field Quad D Price per each Total Price	1	\$175.00 \$175.00
1C.II.	Model FEBCO 805YDC, Serial #B14179, Size: 10", Location: NE Fire Room – Field Quad A Price per each Total Price	1	\$175.00 \$175.00
1C.III.	Model WILKINS 305A, Serial #U14151, Size: 6", Location: Warehouse – Lot A Price per each Total Price	1	\$125.00 \$125.00
1C.IV.	Model WATTS 709 DC, Serial #126506, Size: 3", Location: Boiler Room – Lot A Price per each Total Price	1	\$100.00 \$100.00
1C.V.	Model WATTS 10, Serial #07567, Size: 1 1/2", Location: Generator Building – Lot A Price per each Total Price	1	\$100.00 \$100.00
2A.	Other Than Annual Inspections Price per each Total Price	3	\$3,500.00 \$10,500.00
3A.	Weekly Inspections Price per each Total Price	52	\$175.00 \$9,100.00
4A.	5-Year Internal Valve Inspection-Not required for Year 2		N/A

Date:	March 6, 2015 Annual Contract for Fire Sprinkler Inspections and]
For:	Maintenance for Alamodome		Local
0400005750			Mulder Fire Protection, Inc. 5807 La Colonia San Antonio,
6100005758	Description	LB Estimated Annual	TX 78218
Item		Quantity	210-661-4257
5. 5A. 5A.I.	Labor and Parts Hourly Labor Rate I - Regular Working Hours Journeyman Price per hour Total Price	80	\$85.00 \$6,800.00
5A.II.	Apprentice Price per hour	80	\$60.00
	Total Price		\$4,800.00
5A.III.	Helper Price per hour Total Price	80	\$40.00 \$3,200.00
5B. 5B.I.	Hourly Labor Rate II - After Hours/Overtime Journeyman Price per hour Total Price	20	\$100.00 \$2,000.00
5B.II.	Apprentice Price per hour Total Price	20	\$80.00 \$1,600.00
5B.III.	Helper Price per hour Total Price	20	\$60.00 \$1,200.00
5C.	Parts up-charge Year 2 Subtotal		15.00% \$47,375.00
1A.	Year 3 Annual Fire Sprinkler Inspections Price per each Total Price	1	\$3,500.00 \$3,500.00
1B. 1B.I.	Annual Fire Pump Flow Test Internal Fire Pump Flow Test Price per each Total Price	1	\$2,000.00 \$2,000.00
1B.II.	External Fire Pump Flow Test Price per each Total Price	1	\$2,000.00 \$2,000.00
1C. 1C.I.	Annual Fire Line Backflow Preventer Inspection Model FEBCO 805YDC, Serial #B14180, Size: 10", Location: NW Fire Room – Field Quad D Price per each Total Price	1	\$175.00 \$175.00
1C.II.	Model FEBCO 805YDC, Serial #B14179, Size: 10", Location: NE Fire Room – Field Quad A Price per each Total Price	1	\$175.00 \$175.00
1C.III.	Model WILKINS 305A, Serial #U14151, Size: 6", Location: Warehouse – Lot A Price per each Total Price	1	\$125.00 \$125.00
1C.IV.	Model WATTS 709 DC, Serial #126506, Size: 3", Location: Boiler Room – Lot A Price per each Total Price	1	\$100.00 \$100.00

Date:	March 6, 2015 Annual Contract for Fire Sprinkler Inspections and		
For:	Maintenance for Alamodome		Local
			Mulder Fire Protection, Inc. 5807 La Colonia
6100005758		LB	San Antonio,
Item	Description	Estimated Annual	TX 78218
	Model WATTS 10, Serial #07567, Size: 1 1/2", Location:	Quantity	210-661-4257
1C.V.	Generator Building – Lot A	1	
	Price per each		\$100.00
	Total Price		\$100.00
2A.	Other Than Annual Inspections	3	
	Price per quarter		\$3,500.00
	Total Price		\$10,500.00
3A.	Weekly Inspections	52	
	Price per each		\$175.00
	Total Price		\$9,100.00
4A.	5-Year Internal Valve Inspection-Not required for Year 3		N/A
5.	Labor and Parts		
5A.	Hourly Labor Rate I - Regular Working Hours		
5A.I.	Journeyman	80	* 25 00
	Price per hour Total Price		\$85.00 \$6,800.00
			φ0,000.00
5A.II.	Apprentice	80	
	Price per hour		\$60.00
	Total Price		\$4,800.00
5A.III.	Helper	80	
	Price per hour		\$40.00
	Total Price		\$3,200.00
5B.	Hourly Labor Rate II - After Hours/Overtime		
5B.I.	Journeyman	20	A 100.00
	Price per hour Total Price		\$100.00 \$2,000.00
			φ2,000.00
5B.II.	Apprentice	20	
	Price per hour		\$80.00
	Total Price		\$1,600.00
5B.III.	Helper	20	
	Price per hour		\$60.00
	Total Price		\$1,200.00
5C.	Parts up-charge		15.00%
	Year 3 Subtotal		\$47,375.00
	Year 4		
1A.	Annual Fire Sprinkler Inspections	1	
	Price per each		\$3,500.00
	Total Price		\$3,500.00
1B.	Annual Fire Pump Flow Test		
1B.I.	Internal Fire Pump Flow Test	1	.
	Price per each Total Price		\$2,000.00 \$2,000.00
			φ2,000.00
1B.II.	External Fire Pump Flow Test	1	A0 0 -
	Price per each Total Price		\$2,000.00 \$2,000.00
			φ2,000.00
1C.	Annual Fire Line Backflow Preventer Inspection		
1C.I.	Model FEBCO 805YDC, Serial #B14180, Size: 10", Location: NW Fire Room – Field Quad D	1	
	Price per each		\$175.00
	Total Price		\$175.00

Date: For:	March 6, 2015 Annual Contract for Fire Sprinkler Inspections and Maintenance for Alamodome		Local
6100005758		LB	Mulder Fire Protection, Inc. 5807 La Colonia San Antonio,
Item	Description	Estimated Annual Quantity	TX 78218 210-661-4257
1C.II.	Model FEBCO 805YDC, Serial #B14179, Size: 10", Location: NE Fire Room – Field Quad A Price per each Total Price	1	\$175.00 \$175.00
1C.III.	Model WILKINS 305A, Serial #U14151, Size: 6", Location: Warehouse – Lot A Price per each Total Price	1	\$125.00 \$125.00
1C.IV.	Model WATTS 709 DC, Serial #126506, Size: 3", Location: Boiler Room – Lot A Price per each Total Price	1	\$100.00 \$100.00
1C.V.	Model WATTS 10, Serial #07567, Size: 1 1/2", Location: Generator Building – Lot A Price per each Total Price	1	\$100.00 \$100.00
2A.	Other Than Annual Inspections Price per quarter Total Price	3	\$3,500.00 \$10,500.00
3A.	Weekly Inspections Price per each Total Price	52	\$175.00 \$9,100.00
4A.	5-Year Internal Valve Inspection-Not required for Year 4		N/A
5. 5A. 5A.1.	Labor and Parts Hourly Labor Rate I - Regular Working Hours Journeyman Price per hour Total Price	80	\$85.00 \$6,800.00
5A.II.	Apprentice Price per hour Total Price	80	\$60.00 \$4,800.00
5A.III.	Helper Price per hour Total Price	80	\$40.00 \$3,200.00
5B. 5B.I.	Hourly Labor Rate II - After Hours/Overtime Journeyman Price per hour Total Price	20	\$100.00 \$2,000.00
5B.II.	Apprentice Price per hour Total Price	20	\$80.00 \$1,600.00
5B.III.	Helper Price per hour Total Price	20	\$60.00 \$1,200.00
5C.	Parts up-charge Year 4 Subtotal		15.00% \$47,375.00
1A.	Year 5 Annual Fire Sprinkler Inspections Price per each Total Price	1	\$3,500.00 \$3,500.00

Date:	March 6, 2015 Annual Contract for Fire Sprinkler Inspections and		
For:	Maintenance for Alamodome		Local Mulder Fire Protection, Inc.
S100005759		LB	5807 La Colonia San Antonio,
6100005758 Item	Description	Estimated Annual	TX 78218
1B.	Annual Fire Pump Flow Test	Quantity	210-661-4257
	Internal Fire Pump Flow Test Price per each Total Price	1	\$2,000.00 \$2,000.00
1B.II.	External Fire Pump Flow Test Price per each Total Price	1	\$2,000.00 \$2,000.00
1C. 1C.I.	Annual Fire Line Backflow Preventer Inspection Model FEBCO 805YDC, Serial #B14180, Size: 10", Location: NW Fire Room – Field Quad D Price per each Total Price	1	\$175.00 \$175.00
1C.II.	Model FEBCO 805YDC, Serial #B14179, Size: 10", Location: NE Fire Room – Field Quad A Price per each Total Price	1	\$175.00 \$175.00
1C.III.	Model WILKINS 305A, Serial #U14151, Size: 6", Location: Warehouse – Lot A Price per each Total Price	1	\$125.00 \$125.00
1C.IV.	Model WATTS 709 DC, Serial #126506, Size: 3", Location: Boiler Room – Lot A Price per each Total Price	1	\$100.00 \$100.00
1C.V.	Model WATTS 10, Serial #07567, Size: 1 1/2", Location: Generator Building – Lot A Price per each Total Price	1	\$100.00 \$100.00
2A.	Other Than Annual Inspections Price per quarter Total Price	3	\$3,500.00 \$10,500.00
3A.	Weekly Inspections Price per each Total Price	52	\$175.00 \$9,100.00
4A.	5-Year Internal Valve Inspection-Not required for Year 5		N/A
5. 5A. 5A.I.	Labor and Parts Hourly Labor Rate I - Regular Working Hours Journeyman Price per hour Total Price	80	\$85.00 \$6,800.00
5A.II.	Apprentice Price per hour Total Price	80	\$60.00 \$4,800.00
5A.III.	Helper Price per hour Total Price	80	\$40.00 \$3,200.00
5B. 5B.I.	Hourly Labor Rate II - After Hours/Overtime Journeyman Price per hour Total Price	20	\$100.00 \$2,000.00

Date:	March 6, 2015 Annual Contract for Fire Sprinkler Inspections and		
For:	Maintenance for Alamodome		Local
			Mulder Fire Protection, Inc.
			5807 La Colonia
6100005758	,	LB	San Antonio,
Item	Description	Estimated Annual	TX 78218
item	Description	Quantity	210-661-4257
5B.II.	Apprentice	20	
	Price per hour		\$80.00
	Total Price		\$1,600.00
5B.III.	Helper	20	
	Price per hour		\$60.00
	Total Price		\$1,200.00
5C.	Parts up-charge		15.00%
	Year 5 Subtotal		\$47,375.00
	Estimated 5 Year Total		\$242,075.00
	Estimated 5 Year Total Award		\$242,075.00